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I Actions alone do not describe the behaviour of a system!
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Labelled Transition Systems

An LTS is a 5-tuple 〈S ,Act, → , s,T 〉:

I S is a set of states
I Act is a set of (multi-)actions
I → ⊆ S × Act × S is the transition relation
I s ∈ S is the initial state
I T ⊆ S is the set of terminating states

Write t
a→ t ′ for (t, a, t ′) ∈ → , Act√ for Act ∪ {

√
}
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coin

coffee tea

I S = {s0, s1, s2, s3}
I Act = {coin, coffee, tea}
I → = {(s0, coin, s1), (s1, coffee, s2), (s1, tea, s3)}
I s = s0
I T = {s2, s3}
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Summary

I Actions main building block

I Behaviour described as Labelled Transition System

I Abstraction of internal actions: τ
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Thank you very much.
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